Foundations of Algebra Unit 4: Equations & Inequalities Foyrer,

Day 2 - Solving One & Two Step Equations

. Equation: BRI SREHGAEIMEIN Inverse Operations;
«  =Sign [ 2 g Addition «—— Syubtracton
* Solve Equations Aq + 7 = ﬂﬂ J Multiplication <———— Division
+ Properties of Equadlity (Inverse Operations) Square ey SIUOIE ROO!
+  "“Sentence"
——

No More “Cancelling”

When you first learned to solve equations in middle school, you might have used the words “cancel’. We are
no longer going to use the word “cancel.” Take a look at the following examples:

x-120 =80 _k =16
+120  +120 ¢ Adding the opposite &
X = 200 Additive inverse k xZ =16x2 ¢ Multiplying by the Reciprocal
Adding to zero 7z Multiplicative Inverse
k =32 v Divides/Multiplies to one

Solving One Step Equations Practice

Practice: Solve each equation.

1. x-4=3 Operation You See: { ’) Inverse Operation: L +)
+4 +4
x =1
2, y+4= Operation You See: L *) Inverse Operation: (.— )
“A-4
y=-I
3. j . % =G Operation You See: Ld) Inverse Operation: { f)
§=11
4. _&_9 =_lg‘ Operation You See: (.7‘_) Inverse Operation: ( - )
X U
p=Z
Practice: Solve each equation on your own, 0,'5
X
a. m=-4 b. ¥%d=25 c. 2. %x-6-3 - =
P -f I | X =
— X=18 -8 -
m=-12 d=-5 ‘
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Solving Two Step Equations

e e e
.‘:hen solving equations with more than one step. you sl want 1o think about how you con “undo” the

operations you see. Multi-step equations mean you might have 10 odd. subiroct, muthply. or divide ol in one
problem to isolate the variable. When solving multi-step equations. you are using mverse operahons. whsch 1
like doing PEMDAS in reverse order or in other words “Don’t Call Me After Midmsght .~

Distribute, Combine Like Terms, Move Variable (Isolate). Add or Subtract. Multiply or Dvide

a.3x+3=14 b.2n-4=4 c.';z-l
- -5 + +ls -
%-xs-j_ n'alg I. }._‘-—2-’-’ A 4’
3 ‘yt 2 A

=5 -1=14
n Xb;-‘ .2
x= b
Practice: Solve each equation, showing all steps, for each variable.
1. 3x-4=14 2. 2x+ 10 3. 7-3y=22
+4 4 - -1
§§ =18 = b —3{_=_L5_
s = -8 -3
X=0 x=3 Y=~ 5
4, 05 =8 5. -4+ 3=-5 & it « 4
+ | + + o
~ = -20
0m= 1 A X _ |4 +§ %
.5 0.5 -
A lL
m= |8 X= 4

Error Analysis with Solving Equations

William solved the following equation on his homework last night. However, he solved it incorrectly. Describe
the mistake William made and what he should have done instead. Then re-solve the equation to find the
correct answer.

X = % +1 Mistake: l)l’d{/ ﬂi DP-Ma_‘H ong: JMH'YZLH J-,, Ten

32 =y+1
3=

Comected Solufion: 4 = _‘g_ i z

.4 ®. 3=

24 =

4.8
®
4



